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Direction:

Passage was given reflecting the theme of distributivejustice, based on that following questions wer e asked. Since it
ismemory based paper, passage cannot be reproduced.

Question No.1

In the context of the passage, which of the following reflects the theme of the passage?
Options:

1. Distributive Justice
2. Economic Justice
3. Restorative Justice
4. Social Justice

5. None of the Above
Answer : Distributive Justice

Direction:
Passage was given reflecting the theme of distributive justice , based on that following questions were asked. Since

it is memory based paper, passage cannot be reproduced.

Question No. 2

As per the given passage, which of the following helps in keeping employee morale high?
Options:

1. Employee Behavior

2. Artificial Intelligence

3. Personality and Motivation
4. Social and cultural factors

5. None of Above
Answer : Personality and Motivation

Direction:
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Passage was given reflecting the theme of distributive justice , based on that following questions were asked. Since

it is memory based paper, passage cannot be reproduced.

e Question No. 3

Which of the following best suits to the formation of organizational behavior?
Options:

1. Ornithology
2. Philosophy
3. Psychology
4. Sociology

5. None of Above
Answer : Sociology

Direction:
Para 2: A passage on Electronic Toll Collection was given

e Question No. 4

The paragraph istalking about the system and account.
Options:

1.NFS; FASTag
2. NETC; FASTag
3.NFS; FASTag
4. NHAI; FASTag

5. NPCl; FASTag
Answer : NETC; FASTag

Direction:
Para 2. A passage on Electronic Toll Collection was given
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e Question No. 5

National E-Toll Collection (NETC) wasintroduced by to meet the electronic tolling requirements of the
Indian Economy?

Options:

1. NPCl
2. SEBI
3.RBI

4. NHAI

5. SIDBI
Answer : NPCI

Direction:
Para 3: A passage on Infrastructure and Public Private Partner ship was given which was followed by the 3

guestions.

e Question No. 6

Which model is described in the passage (passage was talking about partial payment by government and remaining

being financed by the private player)?
Options:

1. BOT
2. HAM
3.70T
4.BOOT

5.DBFO
Answer : HAM

Direction:
Para 3: A passage on Infrastructure and Public Private Partner ship was given which was followed by the 3

questions.
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e Question No.7

PPP model being talked in the given passage, what will be share of government and private player in the

investment?
Options:

1.80:20
2.50:50
3. 40:60
4.60:40

5.10:90
Answer : 40:60

Direction:
Para 3: A passage on Infrastructure and Public Private Partner ship was given which was followed by the 3
questions.

e Question No. 8

In which sector the PPP model is majorly used?

Options:

1. Sanitation

2. Ecological Conservation
3. Renewable Energy

4. Infrastructure

5. Social Sector

Answer : Infrastructure
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Direction:

Para4: A passage on Financial Marketswas given

Question No. 9

Which of the following is the regulator of financial activities being talked in the given passage?
Options:

1. RBI

2. SEBI
3.NETC

4. NABARD

5. IRDAI
Answer : SEBI

Direction:
Para4: A passageon Financial Marketswas given

Question No. 10

Which of the following are depositories
I. CCIL

Il. CDSL

Ill. NSDL

IV. CRISIL

Options:

1.1and Il only
2.1land lll only
3.1l only

4.1l and IV only
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5. All of the above
Answer : Il and Il only

Direction:
Para4: A passageon Financial Marketswas given

Question No. 11
An umbrella organization for operating retail payments and settlement systems in India, formed in 2007 is?
Options:

1. IPPB

2. Bharat Pay
3.NPCI

4. BBPS

5. None of the above
Answer : NPCI

Direction:
Para5: On Capital Market was given to ask following 3 questions

Question No. 12

Identify the correct statement?

I. SEBI is the regulator of Commodity Exchange
IIl. RBIis the regulator of all NBFCs

Ill. SEBI is the regulator of Capital Market
Options:

1.0nly II

2.1l and lll only
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3.1, 1land I
4.1and Ill only

5. None of the above

Answer : |, Il and Il

Direction:
Para5: On Capital Market was given to ask following 3 questions

Question No. 13

As per the circular released by SEBI, applicants can also apply for an IPO through

Options:

1. NACH
2. IMPS
3. NEFT
4. UPI

5.NONE OF THE ABOVE

Answer : UPI

Direction:
Para’5: On Capital Market was given to ask following 3 questions

Question No. 14

Which of the following options is most appropriate to submit ASBA applications?

Options:

1. BSBA
2.SCSB

3.BCBS
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4. NSDL

5. None of the above
Answer : SCSB
Direction:
Para 6: A passage on Organizational Change was given to ask following 2 question.
e Question No.15
Which of the following aspect of organizational behavior is being talked about in the given passage?
Options:

1. Organizational Conflict
2. Organizational Management
3. Organizational Change
4. Corporate Governance

5. None of the above
Answer : Organizational Change

Direction:
Para 6: A passage on Organizational Change was given to ask following 2 question.

e Question No. 16
What is the name of the second stage of the Curt Lewin Model?
Options:

1. Change

2. Resistance
3. Compliance
4. Freeze

5. Refreeze

Answer : Change

0(6
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Direction:
Para 7. A passageon languagetransation was given followed by 3 questions

e Question No. 17

The activities highlighted in the passage resemble to which of the following barrier in communication?

Options:

1. Perceptional
2. Psychological
3. Linguistic

4. Physical

5. Attitudinal
Answer : Linguistic

Direction:
Para7: A passageon languagetransation was given followed by 3 questions

e Question No.18
Identify the portal formed by government to remove barriers in communication in local languages?
Options:

1. E-Pathshala
2. NPTEL

3. Vidyanjali

4. E-aksharayan

5. Swayam
Answer : E-aksharayan

Direction:
Para7: A passageon languagetrandation was given followed by 3 questions

0(6



e Question No.19

Identify the mission launched by government for translation of languages?

Options:

1. National Mission for Manuscript

2. National Linguistic Portal

3. National Language Mission

4. National Language Translation Mission

5. None of Above

Answer : National Language Translation Mission

Direction:
Para 8: A passage on Regulatory Sandbox was given which was followed by 1 question

e Question No. 20

Identify the correct option to fill the blank given in the passage.

Options:

1. Coverage, Regulatory System
2. Seminar, Regulatory bodies
3. Coverage, Reserve Box

4. Cohort, Regulatory Sandbox

5. Cohort, Reserve Box

Answer : Cohort, Regulatory Sandbox

e Question No. 21

Which of the following can be termed as Revenue Expenditure?

l. Subsidies
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II. Interest Payments

Ml Loan to State Government

Options:
1. Only 1l
2. Onlyll
3.0nlyland I
4.Only lland Il

5. All of the above

Answer : Only | and Il

e Question No. 22

Which of the following error can be termed as perceptual error?

Options:

1. Semantic Barrier

2. Stereotyping

3. Cognitive Dissonance
4. Halo Effect

5. Systemic error

Answer : Stereotyping

e Question No. 23

What is maximum limit of FDI in under government approved mechanism in Public Sector Banks, Maximum

permissible FDI in Private Banks and maximum individual stake in bank?

Options:

1. 40:80:20

2.20:74:10

0(6
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3.25:49:24
4.74:100:20

5. None of Above

Answer : 20:74:10

e Question No. 24
Which of the following is a process theory?
Options:

1. Maslow’s hierarchy of Needs
2. Herzberg 2 Factor Theory

3. Alderfer Theory of Motivation
4. Vroom’s Expectancy theory

5. McClelland Theory of Motivation

Answer : Vroom’s Expectancy theory

e Question No. 25
Which of the following theory suggest making communication based on Hierarchy, structuring and formalization?
Options:

1. Shannon Weaver Model of Communication

2. Barnlund'’s Transactional Model of Communication
3. Max Weber - Bureaucratic Theory of Management.
4. Schramm’s Interactive Model of Communication

5. None of the above

Answer : Max Weber - Bureaucratic Theory of Management.

e Question No. 26

As per JOHARI Window, quadrant known to self but not known to others is known as?
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Options:

1. Arena

2. Blind Spot
3. Unknown
4. Hidden

5. None of above Answer:

Answer : Hidden

e Question No. 27

Two companies A and B has the same number of outstanding shares, equity capital, dividend and earning. But the

Market price of A is 1800 and that of B is 600. Which of the following is true?
Options:

1. Dividend of one is Higher than other

2. EPS of one is Higher than other

3. Book value of one is Higher than other

4. P/E value of one is Higher than the other

5. None of the above

Answer : P/E value of one is Higher than the other

e Question No. 28

If a person makes mistake while understanding the dictation due to limited understanding of language, what type

of barrier it is?
Options:

1. Attitudinal
2. Semantic
3. Physical

4. Psychological
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5. None of Above

Answer : Semantic

e Question No. 29

During Merger and Acquisitions, which of the following changes are relevant to management of Organizational

Change?

I. Convincing Human Resource to Accept Change
Il. Smooth Transition

Ill. Restructuring

Options:
1.l only
2.1l only
3.1l only
4.11 & lll only

5. All of the above

Answer : All of the above

e Question No. 30

Low employee turnover in a company indicates which of the following?

Options:

1. Limited revenue generation due to poor labor attendance
2. Employees are committed towards the Organization

3. Low Morale of Employees towards the Organization

4. High resource use efficiency

5. None of The above
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Answer : Employees are committed towards the Organization
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